KEY

Task 1: Choose the best reply to each question.

1. 2. 3. 4, 5. 6. 7. 8. 9. 10.
c b b b c a C a b a

/10
Task 2: The people below are all on holiday. Decide which attraction would be the most
suitable for the following people.

1 2. 3. 4 5
E A C B
/5
Task 3: Read the text below and choose the correct for each space.
1. 2. 3. 4. 5. 0. 7. 8. 9. 10. 11.
C A D B A C B D B A A
/11

Task 4: Choose the suitable word from the box for each gap. Use the word in the correct

form.
1. 2. 3. 4, 5. 6. 7. 8. 9. 10.
bow bough bow beats wins | classical | classic | reigned rain rein

/10

Task 5: Read the text below and think of the word which best fits each gap. Use only one
word in each gap.

1. 2. 3. 4. 5. 6. 7. 8. 9.

your as have in not/neither to with are do

/9

Task 6: Look at the statements below about holidays in New Zealand. Read the text and

decide if each sentence is true or false.

1. 2. 3. 4. 5. 6. 7. 8. 9. 10.
T T F F F T F T F F

/10

Task 7: Read the text below. Use the word given in CAPITALS at the end of some of the
lines to form a word that fits in the gap in the same line.

1. healthy 6. majority

2. interested 7. uncomfortable




3. evidence 8. strength

automatically 9. consequently /Consequently

5. surroundings

/9

Task 8: Match the functions with the sentences that could be used to express the ideas.

1. 2. 3. 4, 5. 6. 7. 8. 9. 10. 11.
e i k b h a C j d f g

/11

Task 9: Complete the second sentence so that it means the same as the first one, using the
word given. Use no more than five words. Write only the missing words as answers.
1. instead of cooking
didn’t have to book / did not have to book
no intention of (ever) speaking
wished (that) she had /she’d spent
is believed to have been
must have been started
there was no point in
found it difficult to understand

R P IR Al

get my bike repaired

/9

Task 10: You are going to read an article about dreaming. Six sentences have been removed
from the text. Choose from the sentences A-F the one which fits each gap.

1. 2. 3. 4. 5 6.
D E C F A
/6
Task 11: Match the beginning of the joke to its ending.
1. 2. 3. 4. 5. 6. 7. 8. 9. 10.
c 1 d g a j f b h e

/10



